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INSTRUCTION TO CANDIDATES

Write your name in the box above.

Write all your answers on the blank paper.

Clearly identify each question by writing the the number/letter.
Draw a horizontal line to separate questions.

Make sure your work is clear and readable.
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IB Math SL - Vectors /57 ks

Consider the points A (1,5, 4) ,B(3,1,2) and D (3k, 2), with (AD) perpendicutar to (AB) .

1a. Find [3 marks]
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The point C is such that
= |
BC = 5AD .

Find the position vgc_tor of C.
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(2 marks)

ap. Find a unit vector in the direction of . [3 marks)
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3, Show that B

; AB is perpendicular to

1&l

Letu {3 masks}

2
= 3 and »
-1

3
—1) . Given that u is perpendicular to w, find the value ofp .
D
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5.  The vertices of the triangle PQR are defined by the position vectors

- 4
0P = (—3) :

1
—

3
0Q=|-1|and
2
S f 6
OR= ("1
5
5a. Find 13 marks]
N
PQ:
(i}
q
PR .
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a3 R
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E}P?'; NCBON DIy = 8T 0 e o, S PR
5. Show that ) (7 marks]
cosRPQ = 3
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av3.

@iy Hence, find the area of triangle PQR, giving your answer in the form

........... — .

...............................

In the following diagram,
—
u = AB and

e 58] & i =
9.

The midpoint of

—

AD is E and
BD _ 1
DC~ 3"

Express each of the following vectors in terms of
yand -

[3 marks]
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